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22 UfUUqFrh uurgh ufuuqhl ZUUU3L€I' 2023 rd.{

uftughL r{hUUUAUqI' qUSU|UUL UUUFL Zu'Lnf'}nI'U

b.ruunbsLbl

22 Uprlurllrplr rlurpqlr Up ulfitp hurLiurlltpf 2023p. plnt2ttr urnur2frh \]ruulllur\nr-rf purn

h\ulluruurhuur\l.rhpf \uruturpL]h1t htr.nhlurlhruriullu.ruhmplnr-bhhpml.

l.2IIrqU3hL bquunr'SLbf

Zrup\ur1|rh h\ur mrnhhpfr qbnrl urnurg]rb \]ruulflu\mlt lnuluurutu{rub 251363.2 huq.

lprurffr lfr rug {ruruururglr rlmurpg \urqrihl E 224000,7 hruqurp rlprurl \urd \uutup{h1 t
89,1olo -nrl u1q pr{nul.

t. Znqfr hrup\|r qbm{ rlnrurphp 2htr hur}uururhurlhl +uuurugh hut{urpurqp{t1 t 16808,1

hurqurp 4puli, npfrg pur.n qlmqhpfr Ulqhr{uh- 802.5 hruqu.rp 4punl, Upurpu- 704,2 hruqurl

4pult, tuurh21uh - 1889,8 hurqrup qpud, Lttrm$- 1813,7 hruqurp 4pur , I.m\u2ftr-2579,8

huqurp qpulf, Zurgh\- 1531,9 hurqurl 4puri, Uurl]rulurh- 578,1 hurqurp qpur{,illuruLtft\1utlt-

2054,2 hruqurp 4pull, Lnprurlurh-58.6 huqurp rlpult, Uurp4rupurqrurn - 278,2 hurqurp lpurd:
z. Qmlpurhup\ hurtulhplrtpfr rlurp2ru\uh rnurpurbpirhlnr-rf qutr{n1 2Lbphplt lr

2|rlrmplmtrtrhplr hullurp r.tmr.nptp thh lnuluuutu{h1 rJrururnurg}r hurr{rupuqpLlhl t 7724,3 huq.
qpull:
s. 4nqpurhup\ $nluLuqpuntf2ngLtpf hu urt qlurhn{ trurluururhu{urE 168970,4 hurqup

4pultfr 1|liurg +uruuugb dmurphpp \uqdh1 htr 164869,7 huqup 4pu 11u \uuup{h1 t
97,6 o/o-r$, npfrg luur qlnqLpb Ulqhrlu-rtr-2928.6 hurqrup 4puli, Upurpu-3032,9 hulqulp 4pul-f,
turutrglutr- 6248.2 hruqurp lpurd,Lhhnqf-3332,9 hruqup lpruri, Lm\u2fh- 7871.9 hurqurp

4pur , lugh\- 7760,6 huqrup 4puri, Uu1|rulurh-2911,5 hruqurp 1pu , tJluuhffuulr- 8732.2

huqurp 1pull, Lnpul{urh - 3319,2 hurqurp lpurl , Uup4uprurquut- 13423,9 hurqrup qpull:
4. Zuliu.r;hplr plm2t rinunpurqp{nq ruLr2u.rpd qnr-;p}r hu.rp\p qlurtm{ hu}uurr.nturlurb 82392,8

hruqurp 4pulllr {r urg {rruurnurglr mlnptpp \uq t1 th 34598,7 hurqrup 4pru \urf
\urururp{h1 t 42 o/o-m{, np}rg pur.n qlnlrltph lIlqt{urtr - 640,8 hruqurp 4pulf,Upurpu- 1654,8



hruqurp 4prurl, turutr2lutr- 1140,7 hurqrup 4puli,Lhhntqf- 2018'0 hurqurp lprurf' Lnr\ru2]tlt-

2160,3 hu.rqrug 4pur , Zuglr!- 2256,4 hurqrup lpuri' Ihul!ruylh-3447'5 hurqrup rlpuni'

tllu-rutrlt\1urt- 932,4 hurqup 4purt, Lnpuulruh - 280,9 hurqrup 4purl 'Uurp4upruulur'n- 
5402'4

hruqurp 4pur ;

2. Sor'f€bf

Snrpphg[ qbml urnu2lrt \]rururiyu\m bur]uururturlrub 47277 '8 tulq' lpulf[ 4fLiurg

rlr.uruururgfr rlntr.npp \urqrltl t 56987 hruqrup 4prurl \ur \unnurprlhl 138' 1 o/o-nr'l:

r. attullu\urtr urmpphpf qbml tlu]uuurhu{urb 17640,0 hurqurp 4prurllr 4}r ug r}ruruururg}t

rimurpp \urqrihl L 21144,7 huqrup 4puli \uli \unnurprlhl 119 9 o/o ml'

:. S1r1u\uh untpphplr qbnr'l llurfuruurhurlub 23637,8 hurqurp llurilr 4llfurg qruruuurgb

rlnrurpp \uqrlhl t 35842,3 huqurp rlpunf lunf \unnurprltl t 151'6 o/o-ml:

Lntltr pr]mrl'

ur) hrurlurlhplr rnurpubpnul trnp llulnnrgrlnq oplt\urLrtlfr h 2ltrnrplmhtrhpfr 2lrtrtupurprplntbp

u\uhlm pmlpnlmplurtr rlntuptpf qbn{ Inu}uulntu{urb 1636'0 hruqurp 4pu f rlf utg

rfu:uuru.rglr rinturptpp \iuqritl htr 1841,0 huiq 4luli l1uni \ulnurprltl t 112'5 o/o-nt{:

p) hrurirultreh uurpurbpmrl qrntulnq oplh\rnhh11 rltpur\urnn€tpr ru2]uruururltplthp

\urururptpr pntlgn{ni.ppui.r rlnturphpf qbml trur}uulnhurlu.rb 780'0 hruq lpulff 4ft ug

rlrruurnugfr rlnrurphPt \uq h1hh 420,0 huq 4pulf \url llurnruprlhl t 53'8 %-n{:

q) hrudur:treb {urplur\urh ururpurbpnt{ 2hhptplr, 2fhmplmbhhp}r' purrlurpur2lLu\uh Lu11

oplt\urtrhplr pulh4riuh pmllm{ntplurh hrurirup hru}ururnhurlurb 48 0 huq rlpurLt} 4fttlug

{rurur.ng}r dmrnphpp \urq tlhtr 60.0 hurq rlpu.ui \u.r \unnurprltl L 125 o/o-n!:

l1 nuli*1ttp1t ururprubpnui nqhtrg ludb:pUhp L (\ull) bluurlumnf urpuruqpruhplr Dttfu'rrSlt\

r.nurgrlu rlurdunpf pmlyllmplurh hutiurp rinr'rnpLpfr qbnrl Lruluurr'nhu{urb 8140'0 huq lpru }t

lftlurg rJruruuurglr nunphpp \urqdhl ttr 10744,6 hurq 4pruri llurl \rur'nruprlhl t 132oloarl' npltg

iu- qlt.lUplt' L\qLLlruh- i40,0 huqrup rlpur ' Upurpu- 754'0 huqiup 4pruri' tuurt.rgurh- 1900

hulqurp 4pulf, Ltl.rmqlr- 149,8 hurqurp 11url, Lm\ur2]rir- 190'5 hruqrup 4prurl' truglr\ 257'3

hu:qurp 4puli, 1-Iurl|ru1uh- 123,0 4prud, lllurutrlr\luir- 571 0 hurqurp qpull' Lnpurlurb - 69'0

hu-rqurp 4pur , Uurplurpurqrur.n- 790,4 hurqurp 4pu.ti:

t) hullurltrplr ururpur6pmrl pugoplur rlurdunp \ruqrlurllLpqtpr pmllurlmplurh rlnruptpfr

q6nrl trurluuruhurlrub 1280,0 hurqup 4pur lr 4frLturg $urur'nurgfr rinr'urpurqpi{h1t 2743'9 hurqurp

4pur \ur \uruurPr{t1 L 214,4 o/o - nrl:

qj 2*rtu1t p1r ururpurbpmf hLrint\ {urntfrpfr, rnt}utr}r\ur\urh htrlm\trhp}r' hL4nr\urgt{u:b

qu.rqtpfr riurtrpurburlu unhulft \hrntpmrf hhqnt\ rlrunhrlrplr' rnhfutrlr\u\u-rtr hh4nr\tlhlL'

hLln{urgrlurb qurqtpfr Llurdrunpfr pmllnrlmplull hur urp qurq}r L tltuntr}rpurpuulrnupurlr:



trlnrphpf rltudunpf qbml 2488,0 hurqrup 4pulllr 4]rdrug rlnuurmlgfr rfnrr'npurqprltl t 4780,0

huqrup 4pull \ull \urururprlhl t 192,1 o/o-n{:

t) Zullurltrp[ ururpurbpnul iunhurpfr, hurhprulfrb ut.rhr1f, qrlurpdulip]r, 2urhmrinll ]uu1t$ h

rfirdru\u]uurqhp]r \urqriru\hpqrlurh oplh\utrhpp, pulqhfrptrhpp (urunthurhhpg), ]uurqurubtpg
dur p 24.00- frg hhrnn ru2luuruhpr pnqlnrlntplurh hur rup rlmurphpfr qbnrl tluluutntu{urb

1000,0 hurqurp 4purif 4frlurg {luurnurgf rlntnpuqprlhl t 1454,2 hurqurp qpuri \ulf
\urLnurprfLl t 145,4 o/o-r,]:

p) hulftulbpf nurlulbpnr Dltfdutglt\ rnupr.lur hu rup urluluPhh qmlurq4 urhqulphpt
pmlpllnrplurL rimnphplr qbnr{ trur}uurntu{urb 5600,0 huq. 4punffr 4}r urg r}ruruurugft

rinrrnpurqprlhl t 8256,5 hiuqurp 4purd \rurl \uutup{L1t 1 47,4 o/o-nrl

p) hullurlLpfr rnurpurbpnui Et IourShU rnurpmrl rlupryurnurp ururpulr bunurlnrplnth

frpur\urhurglltpr pnr-;rmlmplurh hrudurp rlmurg 2|r hurfuururhur]h6 rlluuururgfr rimlnpuqp{h1t

50,0 hruqup lpuuI:
d) hullu.rltrpfr rnurpurbpnrrl prutr\updtp rlhLnurqtrtpfrg ulururpuruuqub lphpf uhptubulu

urnmrlurdu.roplr i,.rurptUurL pnqpm]nrplurL hurdurp tn.uluulnhu{urb 1150,0 hulqurp 4punl}t

4|nlurg urp4hh lru\ 1 |rtr \fruulilur\nr {rruuulug}r rfmrnpuqpr}h1t 1220,0 hruqurp 4pull \ull
\ulnurpr{t1 t 106, 1 o/o-nr{:

f) hur urltrplr ururpur6pnui qurl.ulnl ]uuLmptrhpmrf, \prqru\hhpnrrf mhluhlr\tu\ul:

hhrlm\trhpfr {udurnpf rnluphEuL pnrllul]mplurh huliup rlnunphpfr qbnq

hurluruurhurlurb 900,0 hruqup 4purLtf lflttug rlrururnurglr nunpuqprlhl L 785,0 huq.

qpuli \nrf \ururuprlhl t 87,2 o/o-n{:

1) hur urlhpf uuipurbpmd hurbpulfrh utrtr4]r \urqdru\hpqrfuh h lrpurgrfutr pm;}mlnrplruh

hutiuLp rlmuptplr qbnr{ bur}uu:rnturlrub 1200,0 hurqurp 4pur f 4f utg +uuuurgb

rlmrnpruqpr.lhl t 1522,1huqun 4puui \un{ \ruulupr{h1t 126,8 o/o-ntl;

3.'lucsnLuquL'IruuucL0fzLbf

Cl-rpLugh\ hhppfrh qru2urntrur\ul.r rlpuulur2trnphtrhpf qbn{ trurluurnhu{utb

615258,7 hurqrup lpLuUfr 4|lfug {rururnrug}r $frbLubuur{npLltl t 615258,7 huqurp lpru

\ru \ulnup{h1t 100 o/o-n{:

ru)'tlhrnur\urb plm2tftg $frburhuur\urh hruriruhulpphgrlurtr u\qpmhpn{

urpur u4prlnl 4mmugfru.rtrhplr qbm] tluluurnhullurb 613944,3 huqul lpurLt! $tdutg
rlruuLnurgfr $|rLurLuullnpLlhl t 613944,3 hruq. 4pu.ul \ulf \ulnurpr{t1t 100 o/o-m{:



p) 'tLrnur\urtr plnr2hfrg r'npuliurlprlnq huiuruur\ur3|rh huru\rugmrftrhplt

(umpr{hLg[urtrhp) qbml hrufuuruhur{urb 1314,3 hurqurp 4pru }t lfr urg rfruruururg}t

gfrtrruhuur{npr{t1t 1314,3 huq. rlpull liud \uruurprlhl t 100 0/o ml:

q) nlhrrrur\rulr p1nr2h}rg mpur ur4pr{nq \uq|rr'nur1 qur2r.nnlrru\urlr

qputlu2trnphtrhpfr qbnrl trurluururLu{urb 8093'5 hurqrup \punlb l}lirug rlmurpurqpr{t1L

I 0699.2 htuqruP rlltutI:
4. u3a lquIIOIlS\,bf

U11 h\unlnuntrhpfrg dnLr.nPLPb qbnrl trurluiurnhu{rub .138728'3 
hurqul rlpru F

,1irriu,g ,ir*uLrr.ugit rit..np,uqp,{h11e1ia2,e nuqurp llutt \rurf \ruurrupLltl L 102'3 o/o-nr'l:

LmlLr Pr{mrf'
1 . Zur ulJtrPb uLr.frru\utrnrplmL hrurturprln4 hnrttpl! qurpduUurprplurir qbn{

hruluuurturlur6 24245,2 hurqurp rllultlr lfniurg rlruurnurgf rimuphpp \urqLihl htr 18642'6

n,nq. ap*Lt \urti \urururpLlLl t 79,9 o/o - nrl, n1|rg puu qnrqLplr ulqh{urir- 394'0 hurqurp

4puli,Upurpu- 409,5 hurqurp 41ur ' fuurtr2lurtr- 660'6 hurqup 4purd' LtLnqb-965'8

hurq.up 4pur.i, Lm\ru2|rtr- 105,a hurqrup 4pull, 2ruglr\-325'0 huqLup lpulf' Urulfrulurtr-

40,O4IIII, llluutrlr\utr- 515,1hruqrup 4pur , Lnpuu{utr - 0 4pruri ' Uurplurpuululn-

155,4 hurqup 4Pur :

2. Qntlplr rlurp&ur\urprplurLr q6nr'l hurluulnhu{rub 1769'6 hurqurp lpuli}t

4|lfurg ,.lrruuuruglr rinunpruqprlhl t 2087,9 huqrup 4lull \unt \iuuurpr{h1L 118 o/o - ml:

:. Shl,I-trhpfrtr ulhurmpluh \n4 |rg qrurmfirpru\r{urb frurqnpmplntt.rl-rhpf

|rpur\utrrugrfurll Surluuhplr $|rhruiruul{nprlurh hullurp urniugrlnq Li}r2ngtltp}r qbn{

rqprtrnLl tiuluuLnhurlurb 2592 hurqurp 4purlft 4|rr'trug rlrurur'nruglr $frtruriruur{npntdp

\urq hlt 2398,8 hu.rqrup 4Pur :

a. OFhLPnq uruhrlurtr{urb thulphirnul huliurltrpurlpr hflltrurp\trhlir \nqd}tg

urnu:.irg urtqur\urh rnmpplr qurh&rfiutr rfuurmg{nq burnurlmplnthhLp}r \unf \uuru'rp{nr1

qnpbnqmplnrtrhhplr 1|nfurg uLnurgrlnl (qutrdrlnq) rldupbhpir qbml l.ruluruurhurlurb 2867'4

hurq. 4punilr rlururnurglr rfmr'npp !u.qrlh1 t 2i49,2 hurqurg rlpull \ull \ruururp{t1 t

trurluruurhurlurblr tr\urr'nilu ! 75 %-rrr'l:

s. Shrlur\urb {druphhpfr qbnr{ tll}uurnhurlurb 94054'1 hurqurp rlpur ! 4f urg

rlururnurglr murpruqpr{t1t 94882,7 hurqrup 4punt \urti \ruururpr{t1t 100'9 0/o - nll'

nFbS Uqpurhubmplul.r r{durptrhplr qbn{ hur}uulnturlub 33651'6 hulqurF 4l1uru'b

qlrriurg rfuruururgf rtnrr'npurqprlhl t 35441'0 hurqurp 4pu \uli \urr'oruprlhl t
105.3 o/o - nil:



6.2,urrturltrph {urp2u\urtr r.nurpurbpnul lrtrphur\ruLi \runntgrlurb 2hhptp}r,
2ftrmplnrbtrhpfr opft.uu\urhrugrlurtr hLudurp rldurphhpfr q6nrl t.rurfuurLntur{ub 11200

huiqup qpu.r lr lf urg rlruruururgfr nnnpurqpr{h1 t. 19665,2 hurqrup 4pull \u.nl
\uLnup{t1 t 175 ,6 o/o - r'll

z. .{urplu\rutr }rpul{ru]uru}uurmrltrhpfr hunlurp uhlurqurL }rtrptrur\urnur]urpriuh
up fLLLpfr \"tLrilrg qurururuluurtrruurrlmpyul.r ]r2nghhpb \|rpurnmrlfrg

t\urdntuLhplrg hufururnhurlurb 600,0 hLuqurl 41urL1|r {llug r}ruuuugfr rlmrnpurqprlLl L

100 huqup qpull \u: \LuLnurpr{h1t 16,7 0/o - nl:
a. Ophbpn{ l-r }rpurLlLulruh u.r11 ur\rnhpnrl uurhrlurhr{rub huriulltrpfr p;ntpt

rlmnpurqp{nq ru11 n2 hurp\rulfrtr h\rurlnrr.nhhpfr qbnil hur}uuurhu{rub 1400,0 hurq.

4pu: ]t 4fdug {ru,rurnurgf rlntnpp l-frh \fruruilSur\}rtr \urq tl k 390,0 hurq. 4pull :

Upriurllp hulftulhpfr 2023p. plnt2hfr h\urlnturtrhplr urnur2|rir \|ruudlu\mrf
ELrlul hLE liu.rluurutu{urb 1054721,4 hurqurp 4pull}r lfrlurg r}ruuurug}r rimrnptpp

\uq h1 hL 1048888,4 hruqup lpur \ur \u.rLnupr{t1 L 99,4 o/o-nr{, uhr}rur\u.rh

h\urrfnrrntrtplr qbnrl hruluururhu{ub 428777,3 hruqurp 4pu }r +h ug +urur.nugb
muptpg \ulqrltl ttr 420431,7 hurqurp 4prurl \uri \urururprlhl t 98,1 o/o-ml:

A UIU U bt/4 utp r ut I ut h Fln ry U
Up u{fp hudu-rltrpfr 2023p. plnr2hh urnu_r2frh llfrul.ullur\nrrl puur bpruqphph

bruluutpp \ulnrup{h1 hb'

cL.IZULnhf trLnr€rdh 2uLf uShL oulluSnhr€or.LLbf
t. " Ophhu4[p h qnpbu-r1fp riurp ]rLhhp> 01 prudfrtr 1-ftr ]um p 1-frl.r 4ruu'

Lu.rluulnhurlurb 197527,9 hurq. lpullfr 1|r rug rlururnurglr 6urluug lu_rqLthl t 153924,1 hurq.

qpud !urf \urnurp{t1t 77.9 oo nr.l:

2. .Ch4huLnll pllrr 3plr hurhturlfrh burnurlmplmhLtp" 01 pudlrb 6-lrh lunr p l-frtr
rpuu' truluulnhurlurb 25600,0 hurq. 4pulf|r 4fr urg lpurfup\1ulbL Euluup \urqrfhl t
23833,5 hurq. rlpuli \unl lulniupr{h1L 93,1 o/o-ml:

sl,sbuuquL zuruFbf nhr€0r.lLbc



1.Onnqnul 04 pudlrh 2luntrlp 4 4ruu' hurluulnturlub 36000'0-huiq 4pur f 4]ttlutg

4purtufl11u1|rll 6urluup \urqrltlt 31031'1 hurq rlpunl \ull \ruururprlLlt 86'2 o/o-nrl:

z. 6urtrurquphrulftr rnpuLuu{Dlrn 04 prd}rtr 5 lumrlp 1 4uru' llurluurntu{urb

5000.0 hurqurl lprurllr 4|niug lpuliutp\r1u11rL burluu 2023 prlur\urtrlr urnur2lttt

\|ruurilur\nut 2]r \ulnurl{h;" 
a Shurhuurqurfr hurpurphpmplnr-hLhl (ullt quruLPbh

ur\ulrrfrLp[ oururpruf]rg rinturghp 04 purd]rtr 9 funtrlp i rluu

hurquip rlpultlr {r urg rlnturpuqprlhlt -96379'1 hurqup qpuli :

Gf gUqU UI'9U'{U3rF'tlUGSalU\.,ff'tdgnts u

l.Uqpurhuhnul 05 gudlrh l-]rti lumrlp l-]rtr quru' hurluururLurlurb 110000'0 hurq

lpruUlr +iliurg rlruurnurg]r burluup \urqrlhl 104281'0 hurqup rlpull \u \uruul{h1 L

94.8 o/o-nrl :

r. gprurfunnur\urpurpntd 06 purdftr 3 ]unuip l-]rb rluru' hurluururhurlurb 29000'0

hruq. lput lr 1|lfurg ,l,uruuurglr burluug \urqrltlt 28i32'1 hurqup rlpuli \ull \ulnurp{t1

k 97,0 o/o-ml:

z. onrlngUhplr lntuur{npmrl 06 purd}rtr 4lunulp 1 btr +url- lul-luurnhurluE 
26000'0

hurqurp rlpulllr 4|llurg rlruiuururglr burluup \urqrltl t 25193'6 hurqurp 4putti \utti

\urururP{h1 L 96,9 o/o-nrl

s. Ftru\urpurbrul|rh zlrtrurFulrnlPlurL h \mtmhurl burnurlmplnrblrtp (urlL

4uruhplrh 2quln\rutrnq) 06 pudlrh 6lunull 1-|rtr rluru' Lurluunnhurlurb 3500'0 hurqurp

,lg-rtlr 4t.i-S rlruruuurgf builuug \uqrltl t 3262'6 hurqurp 4lull \url \uururprlhl L

93.2 o/o-ml:

zuLqhus. ucuqflFSrd bq qmL

1. qpul4ullultrtrhl 08 prdfh 2 |unr'rip 1 4uru'

4f rug $ruurnurglr bu{uup \luqrttl t 17025'3 hruqurg

2qruu\uirq) n1 $ftr.
' hurluuruturlurb -4000.0

Lur]uulntu{urb 18000,0 hurqurp lputllt

4prurl \uli \urururPrltlt 895 %-n{



2. U2u\m1pfr utrhp, ur\nliltrtp, lttrurpntrhtp 0S lurdlrtr Z lum l 3trurfuulntu{rub 17450,0 hurqurp 4pru b 4hrlurg rlluurnurg}r burfug \ruq h1 t 16875,6
4pur lull \ulnurprlhl t 86,7 %-nll:

4UrU

h*q.

e u11 2u\ntpuyp-\urqrlurltpqnr,plmtrbhp 08 pudfr[ 2 fumrlp 4 4uru' rrur]uururturlru8

;-t* -.* *lurururp{{ t 98,2 %-m{:

qrrdnr'r€nhL

l.Lurfuuqu4ngur\urb [ppmplmtr burluuhfrf qbm{ 09 purdltr 1 lu'Il- p i quru.tuluulnhurlurb 250000,0 hurqurp lpurdi llllurg rlrururnurglr burfuul \urqrlhl t 2a0572,1
hruqurp lpur llurl \uruluprlhl t 96,3 o/o_url;

2.up'ru4qpngur\urtr 4uruurl'upurlmpjmtr 09 p.rdlrtr 5 lumrlp l_|rtr 4uru.trurfuurrnhurlurb 92000,0 hurqurp ryrrurllr 1]llug rlruuururg|r burluuE ltuqdtt t 91754,4hurqur3 lpurrl \urd \ulnurprlhl L 99,7 7o_urf

;ff*lfr{'#,.,',l;d:"*}[ffi {;T,'ff f?ftTb}-i"#
2quunliurhnrf , -10

{t rug rlrururnurg}r

1.22 hutuqhphhVl ulwhntuuwlltlt Snb4 11 pudjtb l_jttt lunzdp 2 4wu, hwluutnhu{wb
gnu-lwVp puqdad t384Z2gB hwqup 4pwd.



1. ChUphFb h 2]rLrnr-plmtrtrtplr \urqfrururl {tpurhnpnqmrt, hn4rlurb 5113 ululhqurL

Lrurluuurtu{ub 764050,8 hurq. qprurf}r 4}lfrug r}ruuururgir bul}uup l-}ttt \}tuu lu\}ttt
\urqdhl t 396398,1 hruqup lpur \u \urnrupr{hlt 51,9 o/o-nrl:

2. .{up2iu\rutr uurppullnlnuihhp, hn1{rub 5122' hur}uruuhurlurb 1906,0 hurqurp lpullft
qfr uig {rururnurg}r bur}uug \urq hlt 1071,0 hruqurp 4pruri \rurl \ulnup{t1t 56,2o/o-nl:

4. L\l rttphLurtiLp Lr uupprur.lnpnt l,rtp.hn4rlurb 5129' hruluurnturlu-rb 1000.0 huq. rlputdlr

4fr urg rlrururnruglt bufuu 2f \uututptltl
5. Lurluuqburhturuqnr.nur\urtr burluuhp, hn4rlur6 5134 Lrurluurr'nhu{ub 20500,0 hu:qurp

4pullfr 4|liug rlrruur.nurglr burluug \utqrlhl t 3500,0 huqurl 1pu \u \uututptltl t
25,9 %-n{:

2023 prlur\rubfr urnur2ltL Ebuur lur\ntd ulrluprnrlhl hh 2022p{u\uLt}t 3-p4

hnulfu1u\frb h\hurp\rub umprlhtrglrnL bpurqphplrg Uprfulfirp PuquPtI ldhq 3 U p]t{ 7

riurh\urqurpurtqtrLpfr 2hhphplr 2hnmgriurb hunfurlu-rpqfr \urnngrfurh, qurqru$lt\utg uL,

hlrt 4nhhpp h qu.rr.nnthurhtrhpp hnpm{ rfn}urupftr ub, l.hbnq! qlnqil

2purdulnu.r\urpurprturl.r gurt.rglr, Up ul{}rp purrlupfr U.anp\m utr{urtr rfurrlng}t

hfr Lurirnpnqrtulh u.r2|uuuu.rtrphhpp,l-Iluut.rlrfuurtr qlnrqlr rfiuh\uqurpuhqlr 2hnmg urh

hulftu\rupqf \urnmgrfurtr l-r uurtrhurhqmlglt rltpu.rhnpnqrfiutr ru2|ururnurhphtpp:

Uptluttllp hutdutlhplt 2023p. pln2hlt unu2lttt Qfuut[lwQnuI Eh4urdblllt
ttutluunhutltnt 16467541 hutqutp 4ltutdlt 4lnlutg rltutuuutgj tuluuV QuqdQ t
1162630,7 huqwp 4Jtutd llud llutuutFtlhl t 70,6 %-nt:

F3nhQbh UF9OSLbf r"IFShShSC b.{ $r'LULUUqnf UUL

u.tFSnhfLbtc

UptIwt!|zt hutt"tutlltplt plnt2blz 2023 pttutQwttlz auFhuUqFI uqutn ttrutgnp4q

QuEIhl t 588032.7 huqup 4pud ltuQ unut2rttt QltuutttlutQaul rltuunuglt

hut(h1nry4p llutqdh1 t 5707425 huqup 4punt


